FIRST LIGHT

SAFETY PRODUCTS

Part No.

Description

>

2

‘I[“‘;gy

STANDARD FULLY ILLUMINATED STOP ARM PARTS LIST

®
_ STop

Equivalent Industry Standard Part No.

100680 NUT - NYLOCK, .25-20, 18-8 SS 142
100709 DIAPHRAGM RETAINER PLATE, PD 2102
100711 ASSY - INNER ACTUATOR PLATE, PD 171
100715 HINGE COVER, PD 124
100721 ASSY - ARM BASE, PD 2167*
100722 WIRE ROPE PULLEY, PD 2197
100723 RETURN SPRING, PD 2198
100724 ASSY - WIRE ROPE, PD 2196**
100725 NUT - HEX, NYLON INSERT, 10-32 4048
100726 SCREW - FLANGE HEAD, HEX, #10-12 X .5, STEEL, ZINC PLATED 137S
100728 COTTER PIN, 1/16 X .5, PD 2112
100730 SCREW - FLANGE HEAD, HEX, 1/4-20 X .75, STEEL, ZINC PLATED 174
100731 SPACER - .251, .436, 3/8, STEEL, ZINC COATED 176
100733 NUT - HEX, CRIMPED, 1/4-20, SS 143
100934 RUBBER DIAPHRAGM, PD 106
100944 ASSY - OUTER ACTUATOR PLATE, PD 170
101031 ASSY - ACTUATOR, PD 106A

*Assembly includes Sintered Bronze Bushings. For industry standard replacement, PN 100734, needs to be ordered.
A 1/16” Cotter Pin is also required (PN 100728).

**PN 2196 is not recommend for use in our Stop Arms. FLSP PN 100724 may be used in place of PN 2196.

6-1249 Clarence Ave, Winnipeg MB R3T 1T4 Canada p: 866.216.2605 | f: 833.866.1547 | w: firstlightsafety.com f O B in

L




